
LEG SYSTEM ASSEMBLY

SS2SC SS3SC&

palmerindustries.com                                                                   401- 421-1730© 2020 Palmer Industries, Inc.

1. Assemble the leg system as indicated in 
the accompanying Leg System Instructions.

2. Disassemble the foot from the bottom of 
the leg by removing the #10 set screw(s) 
with supplied hex wrench.

3. Assemble collars, gaskets, shelf, and 
wall bracket as shown in Fig. 1. Collars, 
gaskets, and shelf will slide UP from bottom 
of leg. Re-assemble foot. Position all set 
screws on collars and feet facing to the rear.

FOR A SYSTEM WITH FRONT LEGS ONLY

SPLIT COLLAR SHELF SUPPORT

LEG PASSES DIRECTLY
THROUGH SHELF

COLLAR

#10 SET SCREW (3 EA)
POSITION TO REAR

RUBBER GASKET

RED WALL
ANCHOR

ALUMINUM
WALL
BRACKET

SELF-ADHESIVE
RUBBER BUMPER

#12 SELF-TAPPING SCREW

#10 SET SCREW (1 or 2 EA)
POSITION TO REAR

REMOVE FOOT TO ASSEMBLE
COLLARS TO LEG

SIDE VIEWFig. 1

BUN FOOT STYLE SHOWN
FOR REFERENCE ONLY

#10 SET SCREW (3 EA)
POSITION TO REAR

COLLAR

IMPORTANT:
Locate center of shelf here, above floor. 
Note: Leg is reinforced ONLY at this 
location .

LEG

COLLAR

COLLAR

SHELF

RUBBER
GASKET

RUBBER
GASKET

(BLOCKING
IN WALL

PREFERRED)

C U S T O M   S I N K   L E G   S O L U T I O N S
PALMER INDUSTRIES

± 1-1/2”± 1-1/2”

Split-Collar 
Shelf Supports

INSTALLATION INSTRUCTIONS

re
v:

 0
31

02
0


